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Achievement test 
Class- 8 

Subject-Maths 
Tirne-Lhr Total-25 

Note:- Tick the right ( ~) answer 

Que-l Every circles are 
1) Same 

1 
.l 

2) Identical 3) Congruent 4) All of these 

Que 2 Parallelogram is 

1) / / 3)0 4) o 
Que.s Which of the following has two dimentional structure? 

1) Rectangal 2) Prism 3) Pyramid 4) Square Prism 

Que .4 Which is not three dimentional structure? 

2 ) L-( _ __J,.Q 

Que .5 How many corner the circle have ? 

1) 0 2) 1 3) 2 4) 3 

Que .6 The information collected in all such cases is called 
1) Data 2) Data Handling 3) Information 4) Raw Data 

Que .7 The graphical representation of data? 
1) Frequency 2) Histogram 3) Data Interval 4) Class Interval 

Que.B The difference between the highest and the lowest value of the observation 
in a data is called: 
1) Mean <:) Range 3; Total frequency 4) Sum of observation 



Que.9 In the interval 35-45, 45 is called 
1) Upper limit 2) Range 3) Lower limit 4) frequency 

que. 1 0 The class marks of the class 20-30 is 
1) 20 2) 30 3) 25 4) 10 

Que.l Which of the fol lowi ng is three dimentional structure? 
1) Square 2) Rectangle 3) Cube 4) Parallelogram 

Que.l 2 A parallelogram also has two pairs of equal-length side, but they are opposite 

to each other rather than adjacent. 

1) Kite 2) Pencil 3) Arrow 4) Ice-cream 

Que.1 3 ABCD is an quadrilateral in which AB=5cll1,CD=8cm or the sum of angle A or angle 

D is 1 800. What is the name of this type of quadrilateral? 

1) Parallelogram 2) Trepezoid 3) rhombus 4) None 

Que.14 A straight line that passes through the two points is called . 
1) Line 
3) Rectangle 

2) Line Segment 
4) square 

Que.1 5 In a quadrilateral, the each angle is equal to 75°, then the fourth angle is 

1) 1500 2) 1350 3) 450 4) 750 

Que.16 Discount is calculated on price of a thing. 
1) Marked 2) Selling 3) Tex 4) Cost Price 

Que.17 The marked price of the T-Shirt is Rs 800, the selling price of this t-shirt is 

Rs.680.The discount percentage on the t-shirt is 
i ) 10% 2) 15% 3) 20% 4) 25% 

Que.j 8 The 7/3% ofa number is 42,what is that number? 



1) 9800 2) 8 2) 1 800 4) 180 

Qu.e.19 (100-20% of 300) of 40% equals to 
1) 20 2) 140 3) 16 4) 64 

Que.20 A jacket selling price is 1120 after giving a discount 20%.What is the 
marked price of the jacket? 
1)Rs1440 2)Rs1400 3) Rs 960 4) Rs 866.66 

Qu.e.21 The distance around a two dimentional shape is called . 
1) Perimeter :-!) height 3) side 4) length 

Que 22 Area ofa rectangle = 
1) Length x width 2) side x side 3) 4(side)7 4) 2 ~ Length+width) 

Que.23 What happens to J cube's volume when the side length is doubled? 

1) volume increases 1 000 times 
3) volume increases 1 00 tunes 

2) volume increases 1 0 times 
4) volume increases 1/1 000 times 

Que.24 The volume of water tank is 3m3 Its capacity in litres is 
1) 30 2) 300 3) 3000 4)None 

Que.25 The volume of a cube whose side is 3x 

1) 27 x3 2) 6 x3 3) 9 x3 4) 3 x3 
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